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SPACE FOR ROUGH WORK
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1. What is the rate law of the given reaction?
2NO +2H, - N, + 2H,0
(A) . rate = K[N,][H,0
(B) rate = K[H,]* [N,]
O  rate = K[H,* (NOF
(D) rate= K[NO][H,]

Sipsarm swearLm_ige 2 drar Cous 698 o1g?
2NO+2H, -» N, +2H,0

(A)  denen Causib = K[N,] [H,0]

B)  elevar Causb =K [H,]* [N,]

(©)  efevar Geusib =K[H,]* [NOJ?

D)  enen Gausb =K [NO] [H,]

% The rate reaction is given by —d—ic =ke], cB, ¢, the order of reaction is
(A) L+L+i
Di By By
(B)  n;xn,xn,
1
Ol =
N, X1, XNg
‘/6) n, +n, +ng
@ laaniear eflananCeusioneng —d_(ic = ke, c3?, c3* crafleh icuefeneamen eflevartiig wing)?
e e
n, n, n,
(B) n;xn,;xn;
1
() o s
n; XN, xng
(D) n;+n,+n,
3 3

SCH/18
[Turn over




3. Gibbs Duhen: equation is %
o ) o
A e =-S;
( ) (aT)HN '
ou; | =
B) (—') =V;
OP Jo:n
A znidﬂ; =0
d(Inlp) AH®
D -— =
@ =& “rE
&lliev-19.u4,6& b swerun(®
ou; ) ==
) (—) =-5,
T )pn
ou:) =
®) (——] -V
OP )rn
©) D mgly; =0
d(In kp) AH®
o di" ~ RT*
4. What is the non radio active process from triplet excited state to singlet excited state?

(A)n/\[nter system crossing
(B)  Fluorescence

(C)  Phosphorescence

(D)  Chemiluminescence

aplbants 24H)ped Hlanaudelmbg phan HDOD Howsd eumb sSi aifs Swans deudpampuirarg)
GTEOTEnT? :

(A) Qe ey LGSO
B) o Qamaflise
© Henp ez
D) 2.\ qafligad
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5. The photochemical combination of H, and Cl, in the presence of gold is

\A zero order reaction
(B) first order reaction
(C) second order reaction

(D) pseudo first order reaction

H, wppd Cl, aflen gafiGaudefamar sriasden aperaflamaude pear Qumes
Q)  uymHsu ug eener

B)  wse Ly enen

(C) @uewrLmb Lig eflener

(D)  Cumed sy ellenen

6. The minimum energy necessary to required in a chemical reaction between the colliding
molecules.

(A)  Threshold energy
(B) Free energy

V(()' Activation energy
(D) Translational energy

tpsamnsEssEE @oLCu Gorgd ghul B ¢m Cadelmar poLQupesHE @mmpguL&mne%
CoenauliL(Bid pHmed

(A  EoDHSULE DD
B) slgoornHne
(C)  Aaritey 2pHmd

D) - paitey yHped

7. The'Gibbs phase rule for metallurgical system is
A) F=C-P+2 B) C=P+F+2
(C) F=P+F-2 ) F=C+1-P

2 Garsellwe emwliidpsrear e Hlaweamw elldwrears
A F=C-P+2 B) C=P+F+2
(C) F=P+F-2 D) F=C+1-P

£ | 5 SCH/18
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8. An example ¢f green solvent is
(A) Benzene
Supercritical CO,
(C) Alcohel
(D) Methane

L&ENLDE SETLILTEISE @ eT(HSSHSSTL(H
(A)  Quensr |

B) despewry CO,

©) sosgmmed

D)  B5Cs

9. A regular 3L arrangement of atoms or ions in a space is called
(A) Unitcell (B) Primitive
(C)  Crystallography . ﬁ Space lattice

@0 @umsmy  wluforar S@blmu 2. g oG wealsmers Qarar g ereuaimm

Sipésluf Hngl? _
A) s (B) eraflw Sebag) 19fdligeu
©) ugselwe : D) ypLeuafs s

10.  Among the following, which property is not related to amorphous solids
(A) Isotrcpic :
(B)  Super cooler liquids
(Ci/‘ Anisotropy
(D) Non-Periodicity

EPpEseTLcuf) HIET THSL LISwTL], Uig.8 2 (heuld Glears Samosn@s dgmmidangs)?
A)  swelliidyemLwg

B) Vs Gefrelssiul L Birwb

(C) swefiueunns

D) aissariueaL Qaoarss

‘SCH/18 6 o




1.

12.

13.

—————— becomes a super conductor between temperatures 2 K and 5 K.

(A)«/He (B) Ar
Be

© D) B
» 2 K wpgd 5 Kég @eriuit Qadufoeulsd Beas e sLsHwuns
Qewou®dng).
A) afellwb : B) <ismen
(C) Qufeelwibd D) Cungmer

Which one of the following metal is immune to stress corrosion?
(A) PureZn
(B) Copper alloy

(C)APure Copper

(D) Zinc alloy

a5 2 Coonsld, DAwsssdlame gnuBL Sifvragms aflsugwurs adisE satenn Qamam g)?

(A) PureZn

(B) Copper alloy
(C)  Pure Copper
(D) Zinc alloy

Nano sized open sheet of graphite is called
(A) Diamond
(B) Carbon

(C)/z}raph'ene

(D)  Fullerene

gmer auigeu CrCHTE T emLIL g6 QuwiT
(A) eeupd

B) smiruen

(C) SAgminSen

D)  ~ticmesfer
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14.  Which of the {ollowing has 7 planes of symmetry and 7 axis of symmetry?

(A) Diamoend

(B) Quartz
(C) Gold
(D)/Monoe_;] inic sulphur

Epsaam_aupfle ergl, 7 Frenng sambisememyd 7 fienw sidmsuyd QupH®mEHADS? |

(A)  @eumbd
(B)  @eunitt sv
(C) srab

D) @ sfly sou

15.  The Henderson-Hasselbalch equation is
(A) pH=gpKa-log ([salt] / [Acid])
(B) pH=pKa +log ([Acid] / [Base])
(CnVH =1 Ka + log ([salt] / [Acid])

(D) pH=pKa + log ([Acid] / [Salt])

QamerL_rFearah) - QDIFOLITE FLOGTLIM(H
(A) pH=7pKa—log ([salt] / [Acid])
(B) pH=pKa + log ([Acid] / [Base])

(C) pH=pKa + log ([salt] / [Acid])
(D) pH =pKa + log ([Acid] / [Salt])

SCH/18 | 8 , o




16.

17.

18.

At 25°C, the specific conductance of 0.01 M aqueous solution of. acetic acid is
1.63x102Sm™" and the molar conductance at infinite dilution is 390.7x107* Sm®mol™ .

Calculate the degree of dissociation of the acid.

(A) 0.4017
BN0.0417
(C) 0.4170
(D) 0.00417

05°C-é 0.01 M =iflligé ofle B sopsdear Buins sLggssden 1.63x10Sm™ wpmd
pueldar Bissdd, Gorart s sgsdpa 390.7x107' Sm*mol™ aafld sufiwgdar Gilws

isgmss sansd([Hs.
(A) 0.4017

(B) 0.0417

(C) 0.4170

(D)  0.00417

In alkaline battery, NH,Cl is replaced by the electrolyte.

(4) HCI (B) NaCl

(C)/ KOH (D) KCl

sy Wearsasdeo NH,Cl -6 udors Weru@ell LweauBEsUUESDS!.
(4)  HCI (B) NaCl

() KOH (D) KCl

What is the shape of CuSO, -5H,0?

(A) Monoclinic
(C)  Cubic

(B)‘/T'riclinic

(D) Tetragonal

CuSO0, - 5H,0 -afler cuigeuentoLiy

A) @OmUESFTET LigsLD
(C) s sgpb

B) geordafiais
(D) prenaps Comewrid

SCH/18
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19.  The e.m.f. of the unknown half cell can be calculated from the expression
(Awmeasmd 4 ER L EL i

(B) Emeasuﬁd =ER +EL
(C) Emeasmd i Eo _ER _EL
(D) Emeasund = Eo +ER +EL

@ sier-Bartafsaafern, e.m.f. sarsf LweuEb Asm_iy
(A) Emeaau’!d = ER = EL

®B)  Epeusuma =Ep +E;

(©) Emeasm’t_&d =E°- Ep-E,

@) E,..8:=E°+E,+E,

20.  With which of the following, borax can form a buffer of pH 6.8 —9.27
(A)  Chromic acid (B) Salicylic acid |
(C) Tartari: acid O Boric acid

Epaan_ e e CUmgraen Geibg pH 6.8 — 9.2 cuclleniouérer BTRISM SamrFordng)?
A)  ECymbdks useb : B) &relHels ofeid
©) Lmiimfs ofeib D)  Curfs ofeid

21.  Which of the f>llowing does not contain any polarity or ionic character?
(A) Ionic bend
(B)  Covaler t bond with partial ionic
(C)  Polar ecvalent bond

Non-polar covalent bond

Epsam_cupmie- eeareybn Sz Swells semenowpm GeneawriiLy wrg?
A)  weflld Gepearriiy

B)  Adg Sualls senano Qe &5 SlenemriiLy

©)  swellg senanw Qsnam a5 Gevenriiy

D)  owell§ searewwpy 55 lﬁlmmrbq

SCH/18 10 ' o




22.

23.

24.

Fuming sulphuric acid contains dissolved

@ S (B)
(©) 0Oy D)
Ya&Wb 558 blewsHld 678 smrbglaTang)?

A) S B)
€ S0, (D)

When oleum is diluted by water, which of the following is obtained?

@A) H,S,0,
B1,50,
(C) H,S,0,
(D)  H,S0,4

@adlwib Cemogams Birés Qawwb Cung e LiLig)

A)
(B)
(©)
D)

S0,
SO,

S0,
S0,

H,S,0,
H,SO0,
H,S,0,
H,SO0,

The basicity of pyrophosphorous acid H,P,O; is

(A)
©

(A)
(©)

1 B) 2
3 o)
auCrmurevurfs oo H,P,0; -ér smrgeutd
1 B) 2
3 (D) 4
11
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[Turn over



25. A device for producing an electrical current from a red-ox chemical reaction is called
(A)  electro physical cell |
(B) electro botanical cell
(C) _electro biological cell
(D electro chemical cell

SARCaHD-pHss loandear epawrs  Ha@n Lsms o BarsEn  smed @eueumm
SiPssULREIng?

(A) e Qe we sevar

(B) e gmugs sever

(©) Hen 2uits seen

(D) e Gaif) seer

26.  Which of the following hybridization is related to the shape pentagonal bipyramidal?

(A)ﬁpsds‘ (B) s*pid?
© s*p'dl D) sp’

Epse eréae) nGemnd giiGsrar QmAToE Qg QUSFIL_6tT QIGTLTLjenL_wig;)?
@ sp'd’ ®B) s'p'd’

© s*plat L m) e

27.  The correct di:creasing order or bond order is
(AW 0;>0,>0;>03" B) 0;<0,<0; <0

© 0;>@,<0;>0% D) 0f>0,>0; <0
Sipsarecupdler erg) sflwman Genawriiy eSssder Qniigeaflengwinb?

@  0;>@,>0;>0% B) 0;<0,<0;<0%
©)  0;>0,<0;>0% M) 03>0,>0; <0

SCH/18 12 3




28.

29.

- 30.

Point group of H,O is
A)

©

H,0 ($i) epevseader yaralQsm@s
D,h

A)
©

Which of the following metal is present in the Cyanocobalamin?

(A
©)

Sipsar_aupmer arhg 2 Cansib swGamGsruaiiafier sramiu@ib?
Co
Mg

A)
©

Which among the following is better nucleophile?

D;h
Cgv

Cyv

Co
Mg

B)
@)

®)
D)

Cyv
D:h

Cyv
D,h

(B) Fe
(D) Mn

(B) Fe
(D) Mn

Spsramumasaile) gl HphHs smESseuT AUITHET?

(A) F-
® Cr
(©) Br~
OV T
(A) F-
® CI-
(©) Br~
® I

13
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31.  What is the product formed when benzene is treated with n-propyl chloride in the presence
of AICI;? : ' '

(A) 1, 2-dinethyl benzene
(B) 1, 4-dinethyl benzene
(C)~/I.sopr01 vyl benzene
(D) n—Propyl behzene

Guener, AlCl; @pemeflenauder n—ypliewued @Camer@Lear efeman b Qurps 2 (meumELd
aflenamulen aflerar@uimpeT eremmen?

Q) 1, 2-at_QusHd Quenser

B) 1, 4-am_Qusdé Quenden

©) gCesmySymiemuc Quender
D) nyCrriemue Quensar

32.  Which one of the reagent is used for the following transformation?

C¢H;CH,CO(H,Cl - C,H,CH,CH,COOCH,

A) NaOH
B) ¢ NaOCl1,
(©) NaOG,H,
(D) CH,Ne

Spsramid W PSS Bapss LweTL b smyed ag?
C¢H;CH,COCH,Cl - C;H,CH,CH,COOCH,

(A) NaOH

(B) NaOCH,

(C) NaOC,H,

(D) CH;Ns

SCH/18 14 3



33.

34.

A reagent which can oxidise primary alcoholic group in the presence of a secondary alcoholic

group is
(A) LiBH, (B) »NaBH "
(©) LiAlH, o050,

rflenanmu gpdsantd GsrEdH BHéEn durwts eflmaru g oaanTame < selnCGarhmoemL W&

Q&b smiyesmtl
(A) LiBH, (B) NaBH,
(©  LiAlH, D) 0s0,

In the following reaction

CH, CH,-Br
@ : @
—
The reagent of X is /"
(A) LiAlH, (B) NBS
(C) Br, / acetic acid (D) Br,/H,0
Sipssnanb efleneamuile) X' eremuig)
CH, CH,-Br
@ ;
—_—
(A) LiAlH, (B) NBS
(C) Br,/ oi8llyé sublen \ (D) Br,/H,O
15
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35.  The bond angle of triplet Carbene is
A) 103° B) 114°
©cxS36° ' D) 152°

apoano sinieNed o erer Wenamriinyé Cameantid

(A)  103° (B) 114°
© 136° (D) 152°

36.  Hammett equ ation is applicable to which of the following
(A)  O-substituted benzene derivative
(B)  P- substituted benzene derivative
(C) M- substituted benzene derivative
W 0O-and M- substituted benzene derivative

‘Gamol swend 1) Spésnamuemeaseaie ersHE QuTHBEID?
A)  O-udelI L Quender cuanaui

B)  P-ufled L Quender euenauS®H

(©) M-uflald L Quender cuenausQ

M) O wpg b M-uFaSui L Quender euanauS(H

37.  How many pessible hybridization types are available for carbocation. If all the electrons are
paired? ‘

A 1 B) 3

A s : D) 8

@@ sniuar Gpmller wallle @as aesyrasesn Gy Cempdmé@nd Curg assmen
QuNs @6 SAL L| (LPEDDSET 2_aTerman

@ 1 3 (B) 3

€ 5 ®) 8

38.  How many sigma bonds are possible in carbanion?
A 1 B) 2
3 D) 4

smiuen erflindlein snweafluller 2 arar Aéor Deariy argsamen?
@ 1 i ®) 2
. 3 . D) 4

SCH/18 : 16 L3




39. Predict the product of the following reaction

S
N
NH2
(A) ®) o~ —NH;
— |
| S
<> N

Spsam eflemaniean afleer Aummenar SIS,

Hent
@ +NaNH2—i>"

N
NH,

@A) =<4 By ]
S N
N

SCH/18
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40.  Find out th> correct ratio of the product

| E@wr Nﬁ(@@/\/+

(A) As>H
‘/{)' A<hb
(C) ‘ A=F
(D) A>>B

Gemeumid eflinamlen sflwuner aflfls samaimw Coibs@Hs

(O) /\/—>@N

A) A>B
B) A<B
© A=RE
D) A>B
SCH/18 18 o




41. For a particle in a 1D-box, its uncertainity of momentum, in its ground state is

oV
2L
hZ
oL
2L
h

B)

©)

h2

(D) ST

@ uflorers Quiiguled &rrgrrr;sim Hevaudler 2 erer gisaflan 2 passler Hlenqulldeors emenio

@ o
®) ;‘—z
© 2
D) %

42.  The selection rule for an electric dipole transitions, beiiween a pair of states are
(A)  both are odd numbers, the transition is said to be allowed
(B)  odd and even numbers, the transition is said to be allowed
V«S both are even numbers, the transition is said to be strictly for bidden

(D) odd and even numbers, the transition is said to be strictly for bidden

20 Gy fowsessdaL Cu ghuBo 861~ @) (HPEDET LOTHDIEISEHESTEN iigLILIEDL &4 eremLiena
A) @rem®CL GHeD TEIEET; LTHDLOTETS) Si@wdss 1L EDS

(B) @heap wHHID QL L CTE@TSET, wrHmorens SA@indssiubEng)

(C) @ran®Cw QrLenL cTamser; LrHOLOTEE &HeLWTs sH&sUILRSDS

D) gnHop LHHIL G TGRS, LOTHOLOTES SHENLOWTS sR&sLILESDS

3 19 ' SCH/18
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43. ——————is an example for intensive properties.
(A)  Internal energy
(B)  Enthalpy
(C)  Entropy

V@ Surfe ce tension

— G SASLILBTSEHEES @6 TOSSEST_LTELD.
(A) o8 2yHped
(B)  eer@;mp Qeutiunb (Enthalpy)
(C)  eenit3ym9 (Entropy)
(D) gy @wellens (Surface tension)

44.  Planck quar tization rule is

A)  nhl2r
(B) nhidz
(C) nhiz
(D) nNhi2x

\SemTaig @edr ehrL_ib pEseD efld

(A) nhl2:r
(B) nhld;r
(C) nhlz
(D) nNhi2z

2
15. sin2x is not an eigen function of the operator di but of %— Then what is the eigen

X X
value? :
@) -2 4{) 4
) =8 | D) -16

2

; d
sin2x  erevns) Te Qewellufien maen &y B0 pamme GQewellufler gpaen sy @b
x

2
x
CTANMTE DiG6l g&ein HLIL| eremen?
() 2 B) -4
© -8 (D) -16

SCH/18 20 | o




46.

47.

For a particle in a one-dimensional box, the number of nodes will be equal to

A)
(B)
©)

o

n
n+2
n+1

n—1

G uflorean’ QUL iquilé) 2-6TeT ¢(H gisaflen sgnissaflen (nodes) eresranfléens

(A)
B)
©
D)

n

n+2

n+1

n-1

Entropy change in isothermal expansion of an ideal gas is

@
A
©
®)

AS =—-q /T
AS =nR In(V,/V,)
AS = ql‘EV X T

AS = —nR In(V, /V;)

@I HevedlwedL umuy Qastiufleve wIHT CELOAPDDES o LL@SsD Curg gHUbBD eram_Grmal

LOTHOHLD

(A)
B)
©)
D)

AS =-q, /T
AS =nR In(V,/V})
AS = Qrev ¥ T

AS = -nRIn(V,/V}) -

21 - SCH/18
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48.  The expansion work done by ideal gases in adiabatic process gives the equation

~4X‘) PV’ = constant

B) PV =RT
(©) PV =c¢onstant

D) (P + v‘;)(v ~b)=RT

Geuiuwmpr Blweoudd poedlwdyy QUITLSEET aﬂtﬂeuml_mb Casmaews Qsiiyb Hspeller sryamons
& perLn() dlevL_s@ih.

A) PV’ = wriled |

(B) PV=8T

(C) PV = wriled

(D) (P + §;)(V ~b)=RT

49. At 25°C which of the following substances has the highest molar entropy?

A)  Als)

(B) CSHG(I)'
J()‘ C,Hg(g

(D)  CH,(g)

25°C Qautiuflacufed Spssam_cuipmer oifsul s Coremt erem_Gymal o_eer Gairiold erg?

(A)  Al(s)
®  CH
(©) C,Hy(g)
(D)  CH,(g)
SCH/18 22 o




50.

51.

52.

For a reversible process, which one of the following equation is correct?

dq dq
A)  ds>—2 ds=Z1
@) e B
(©) dszi}r‘i (D) ds<d—1ﬁ1

@ Serellanans@, Spsaa ahsE swerur(h Fflwrearsm@wn?

dq ' dq
A ds>— dai=—2
(A) s > T (B) S T
(©) ds > _C}I(‘l (D) ds< _(}I(‘l

Saturated compounds with lone pair of electrons show which of the following transitions?

|/6\3 n-o ®B) o-0

*

(C) n—rz D) -z

gafl @enanr erasl_rensamar Qara Blavnenp Camowb Spsam_supdle ehg LTHDSMS ST(HLD?

@A) n-o : B) o-o

*

€y n-n D) z-=x

A typical example for an auxochrome is

Wi =0 VQ_OH

(C) -NO, (D) -ONO-

Blob@umsdster sflwrer 2 gryerid 6rg)?
@A) >Cc=0 B) -OH
(€ -NO, D) -ONO-

23
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53.  Chemical shifi value of D,0 in 'H—-NMR spectra will be
(A)  3.315(ppm)
B) 2.05 éﬁ)pm)

\6‘ 4.79 &(})pm)

(D)  7.26 (8 ppm)

"H-NMR -é D,0 a Gaudl pairay iy
A)  3.315(ppm)
B)  2.05 5(>pm)
©  4.79 8(>pm)

(D) 7.26 (8 ppm)

54.  Coupling constant (ZJ) values of CH, group of the following compounds CH,, CH,C],
CH,Cl, will ke

(A)  CH,(~=".5H,), CH,CI(-10.8H,),CH,Cl,(-12.4 H,)
B o
© - CH(
D) CH,(

-12.4H,), CH,Cl(-10.8H,),CH,Cl,(- 7.5 H,)
~10.8H,), CH,CI(-12.4H, ) CH,Cl,(- 7.5 H,)
~2.4H, ), CH,Cl(-7.5H, ),CH,Cl,(-10.8 H, )

CH,, CH4Cl, CH,Cl, awsellu Csiiingdléd oeter CH, Qsm@duier @eewmunis wriled) (ZJ)
wAliyser eteumony

(A) . CH,(=".5H,), CH,Cl(-10.8H, ) CH,Cl,(-12.4 H,)

(B) CH,(~12.4H,), CH,Cl(~10.8H,)CH,CL,(- 7.5 H,)
(C)  CH,(~10.8H,), CH,Cl(-12.4H,) CH,Cl,(- 7.5 H,)
(D)  CH,(= 2.4H,) CH,CI(-7.5H,),CH,Cl,(-10.8 H,)

SCH/18 24 o’
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55. Which method is convenient for the determination of vanadium in petroleum products?
A ESR spectroscopy (B) NMR spectroscopy

(C) IR spectroscopy (D) UV — visible spectroscopy

Qui_Crrellw QurpL_sefled 2 erar QauGarng wGms 6THS Bliyeiomed] gpaid gL Hlwemb?
(A) ESR figéwnef " (B) NMR fliyéronefl

C) sdeauiy fr,]ljé)LDrrsaﬂ (D). ypoagT— S| ;F;]r;d)mrraﬂ

56. How many peaks would you expect in the low resolution NMR spectrum of Vinyl Chloride?
& 1 B 2
cC) 3 D) 5

@eopaurs GfsEgh Sper Qarer @@ NMR flyale aflevarc GCammar(R&E THHME pa{HHeT

fenL_&@W0?
@ 1 ® 2
© 3 ®) 5

57.  Which of the following statements is correct?
(A) microwave radiation possess more energy than IR
(1-3) UV radiation has a longer wavelength than IR
\6 IR has a lower wave number than visible light
(D) IR has a shorter wave length than visible' light

Spsam_cupHled eTbS sapD) sflwireng)?

Q) mer s uEs IRG AL s Hpd QsTam gl

(B) up eas sElisar IRg L sifls sieeberd QaTaTLg

(€) siyeamEb gaflow el IR gempiHs iene ercamane QaamHeTens)

D) slymanEb gaflow ol IR gepHs s Hesms QararTg

o , 25 SCH/18
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58.  An atom or zroup of atoms which enhances the colour of the compound but does not give rise
tgabsorption band of its own’s is called
L

auxochrome : (B) chromophore

(C)  chrom atogram (D) bathochrome

P AT AT Q@ AsnEd. CainogHen Bngens Qumsseudwg yarme 218l LLHGH saiGw
2 MHlEhe LL_aml _anw SIEl. igGer QUi

(A) BImb@ iméd B)  PHowsrad
© Houdfes D) GCusGsrECymd

59. }@t is the 1ange for near ultraviolet region?
' A) 200 —:00 nm (B) 300-500 nm
(C) 400 =600 nm (D) 500 - 600 nm

Bimwrenauded, simaranio Upearsns sflisefler LG wirg)?
(A)  200-400 nm (B) 300 - 500 nm
(C) 400 - €00 nm (D) 500 -600 nm

60. Which is the correct order of electronic transition?
(A) ‘ TIB<N>7" <n—>0" <o -0
\A{). n—>7r‘<7r—>7r'<n—)o-'_<<o-—>0j'
(©) R0 <o>0 <non <1

(D) O30T <> <<n—5

aos_raflar @ LQuwirfluler sfluner euflens Tg)?
(A) ﬂ—);r"-:n——>zr'<n—->a"<<o~—)a°
(B) n—>7r'<:7r—)7r'<n—)a-'<<cr—)0'°

(C) N0 oo <nor << g

(D) a—)a"«:n—>7r'<7r—>7r’<<n—>o’

SCH/18 26




61.

62.

[Ni(H,0),]** ion absorbs lower wavelength light while [Ni(NH,),]** absorbs higher

wavelength light. Then, which of the following statement is correct?

A
B)
(©)

D)

[Ni(NH,)s]** ion has higher value of A,
[Ni(H,0)¢]** has lower value of A,
[Ni (H,0),]** ion has higher value of A,

Both [Ni(H,0),]** and [Ni(NH,)s]** have the same A, value

Ni(H,0)sI** @opps <o far gallow 2 fgsdps [NiNH,)]* <ifs smefar gaflaw

2 Mleradlpg) eremmmed Spser_eubmiaT erg) Fflwimer sahHm?

(A)
(B)
(©
D)

[Ni(NH;)s]** @wefl @ifs A, wdlious Qeream_g)
[Ni(H,0)s]** @iwefl geonis A, wHliemus ararg
[Ni(H,0)s]** @weafl <ifs A, wilous Qaramrg)

[Ni(H,0)s** wpmib [Ni(NH,)s]*" @ram@ibd swwrear A, wHlieus Qamar g

Which of the following is the correct order of metal ions in the spectro chemical series?

@)
A
©
®)

Mn?* < CO*" < Ni** < Fe?* < V** < Fe?*
Mn* <Ni** < C0*H < Fe*™ < V** <Fe**
Mn?* < CO?*" < Fe?* < Ni?" < V** < Fe?*

Mn?* < CO** < Ni?* < V** < Fe?* < Fe?*

2 Gars weaflsafler Caud Bred euflensuier sflwreneng CainbAsHEHa|D

@)
®)
(©
(D)

Mn?* < CO* < Ni?* < Fe** < V** < Fe?".
Mn?* < Ni%** < CO** < Fe* < V** <Fe?*
Mn?* < CO** < Fe** < Ni** < V** < Fe®*

Mn?* < CO?** < Ni?* < V** < Fe?* < Fe®*

27 SCH/18
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63. Lanthanide déntraction is the
)  Steady lecrease in the values of the radii of M** cations
(B) Steady decrease in the values of the raaji of M* cations
(C) Steady decrease in the Electronegativity of M*' cations
(D) Steady decrease in the Electronegativity of M** cations

@rhgener(h @g.[ésaslb GTeLIg)

A) M* Gpmfer s swallufian @b wHiL AsTLiThE G@DSD

(B) M* Gpinflen saw wafuer gprib wHiY CsmLibg Gops®

© M* G mbleir e Sjwaflufer ersL e sauigeanento wHUL QSTLTHE &GS
D) M* Gpmben senio Swafufen el gren sauisamalo I QsTiThs GODSD

64. Geometric Isemerism would be expected for
@) [Zn (NH,),* .A/ [P+ (NH,), C1, *

©)  [AuNH,),]* (D) [Ni(NH,),]*

&gﬁpésdm_a.uj)ﬁto auigeuaLLIL] IHBIWLD THH G Gr,@frurrr'rés&u@&l;ﬁgj? :
(A)  [Zn (NH,), ™ (B) [P+ (NH,),Cl,*
©)  [AuNIH,),* : (D) [Ni(NH,),]*

65.  Which is not "rue for both lanthanides and actinides?
(A) Elements of both the series show +3 oxidation state
)  Elements of both the series have high electronegativities
(C) Elements of both the series are very reactive
(D) Most o’ the lanthanides and actinide are paramagnetic

Epsaam_sunfle) e7g) @MBESMa(RSET LDHMILD 24&iq.eneT(HEEhEED QUTBHSTS?
A) @ren( cuflens gaflrisaigid +3 oy saiigCanmm Hlae 2 am@H

B) @ranf eauflos gaflvhisaligib oids &L Sauligeneanlo CsmerLg)
©) @uen cflene gaflwiisEnd sissiere eflenan i snigig)

(D) Qungle s erHEmaT(HEET LHMILD bl HSET LTI STHSSeLD Q& TarTLenau
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66.  The magnetic moment value of [Cr(CN),]* is

(A) 2.82B.M.
,,e() 3.87 B.M.
(C) 4.82BM.
(D) 5.81B.M.

[Cr(CN)¢]* <icwanrey Ceirogden smbs L parellan wiiy

(A) 2.82B.M.
(B) 3.87B.M.
(C) 4.82B.M.
(D) 5.81 BM.

67.  Which of the following is a o -donor and = — acceptor ligand?
Aa) F (B) NH;

Jb o © HO

Epangid raflgafled o -aupmd wHmib 7 — g erg?
@. ¥ (B) NH,
© €O D) H,0

68.  CFSE of low spin d*® octahedral complex is
(A),. —16 Dq B) -12Dq

vK -8 Dq | (D) -4Dgq

&mD &pH & erawraps] d? simamrey Gainogder Ligs Lo e Bleoliu@ss < Hned
(A) -16Dgq (B) -12Dgq
(C) -8Dgq D) —-4Dgq

o] 29 SCH/18
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69. Lanthanides are extracted from
(A) Magne_r,ite
(B) Limoniie
ﬁ) Monazi e

(D) Cassiterite

arpaamanhsdr e mhg 19M50sHss0LHEDS?
(A) Cusemeen . - (B) - SwCuwrener

(C) CuwnCGatrensl_ D) Csedli_Leniyi_

70.  The condition to be satisfied for the atomic orbitals to form molecular orbitals is
(A) They must possess comparable energies
(B) They must overlap to a considerable extent

(C) They must be symmetrical with respect to the molecular axis

ﬁ All of the above

2@l 2, ML re&eT apaydsam b TUN L TdSmeT 2 (heurs@Geusnarear HUbSmar 6Tgi?
A)  gufiEsmgw %@gymmu Qupidrés Couamr(HLd

B)  grere} SHAuTHBSIL Fenmns AaTaTsTs G)MmHes G@Gﬁr@Lb

©C) apasamn 216Can® Fienw Qanem® G mssa Coamm{Hib

D) Cuopaplu seerssb :

71.  Which one of the following ions is coloured'%
)

A) La* Eu™

€ @da* ' »D) Lu*
Epaa_ oweflsafler erg Hlpapen_wig?

(A) La* B) Eu*

€ Gd* | @) T~
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72.

73.

74.

What is the amount of sodium ion present in the human blood?
A 160 mg/dl (B) 150 mg/dl
(C) 140 mg/dl (D) 130 mg/dl
wells Qréssda 2 drar GomgqwisSler siera) (Na) ereucuara?
(A) 160 mg/dl (B) 150 mg/dl
(C) 140 mg/dl (D) 130 mg/dl
What is the percentage of body’s iodine that is stored in the prganic form as
iodothyroglobulin?
)y 80% B) 70%
(C) 60% D) 50%
weflg 2 L aflé, HACrCLreagCrm @Cemmien erem &l auigeliled GefgsiuB e iGuimg.e eren
seflingHlen 565510 eTanen?
(A)  80% B) 70%
(C) 60% (D) 50%
is not an important function of Heme-protein.

Vé’ Synthesis of enzymes

(B) Transport of dioxygen
(C) Storage of dioxygen

(D) Catalysis in redox reaction

afib — LCrm_igaflen upédlwibd Geéors Liafl e i,

(A)  eamemevibsmen gLMiiGsd

B) oL safigmand Qsrer Qeeveug)

(C) oL gsaligmer Csllgs emauliLig

D) <sedigea ghssalmaseaio elmanrzasduns Asudu@as”

L} SCH/18
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Th: Thgcopper protein found in Molluses and arthropods is called
) Haemocyanin (B) Myoglobin
(C)  Haemoglobin : ) (D) Erithyrocytes

QueaaiLslsarpnib sassrasaid sramiu@wn Cu yrssdler Quuir
A) ahGurerswiefenr B)  eawCurEGermenr
(©)  afGomre;CarmSen D) eafsCrranss

100 g B) 90g¢g
C€) 80g D) 110g

76. ft is the amount of sodium ion present in the normal human body?
A)

EMGITIyEo0r LDGGﬂg‘.]’_LG&Q') 2 ¢rar Gamg wib Sjweilufen sierey ereucuemay?
(A) 100g @) 90g
© 8og D) 110¢g

77.  The fragment of a catalyst molecule which actually increases the speed of a reaction is

known as
(A) Catalys: Cocatalyst
(C)  Autocatalyst w Precatalyst

cleven carsflulkein @5 LGS Weraypm, elamanier Coussms <idlefadlamg). Qbs eNenean carédudler

QW ————— GariIu@ib.

(A)  enensa &8 (B) gmmaﬂmmamésél
(C) swelleneroasd (D)  @enelenanemsd)
78.  Molecular weight of Hemoglobin is —— Daltons.
/B 64,000 B) 66,000
(C) 68,000 (D) 70,000

afCor@Cearmerlen epevisag eren. —————— Lrdr L e y@ih.
(A) 64,000 (B) 66,000
(C) 68,000 (D) 70,000
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80.

81.

In all mononuclear carbonys, Co group is linked to the metal atom through the carbon atom
only. This is because oxygen atom is ——— than carbon.

(A) more electropositive
(B) less electropositive

\M more electronegative

(D) less electronegative

omaEs @m olsm smGurmadselgid, o Corssgler smiuer gy  Gmeriidd
rHULGerarg), gOaafld 2 &aliger gl STTLGT HEMaIS ST I QI 2 L WG

(A) <ofs aed e BTLLLD
B) GBS eTSLTTET BTLLLD
C) =ifls eras_yren HTLLlemenLo

D) GBS s _yTaTHTL L eTeno

Which of the following antibiotics has a trisaccharide structure?
(A) Penicillin ) Streptomycin
(C) Tetracyclin (D) Auremycin

Qaraumuameisafid abs Haranudi ardfl yarsnssamy® g ausmss Asramg HESDS?
(A) Queflfleden B) evLCyrennSen
(C) QLigrenssafian D) <y fenodler

Choose the aldotriose from the following
(A) = Glycolaldehyde
)  Glyceraldehyde
(C)  2—deoxyribose
(D) Xylulose

Ssar_cundle @mbsl OCLmgmrGuren — g Caios®H
A) deversrioyigamanh

B) deflsgrerHeran®

(©) 2L e g &edlanyGumen

D) meauGemav

33 SCH/18
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82. Bitot’s spots iwre formed due to the deficiency of

(A - Vit 19 ’ (B) Vit.B

o Vit A (D) Vit.K
G em yérafl ser @aulL 1fler Genpum_Lmed euhEng
A)  @atfarD B) eaiifdarB
(C) eeauLferA . D) e Lfler K

83. - are examples for peptide harmones
\ A_ A) - Insulir, Corticotropin

(B) Hydrocortisone, Estriol
(C) Cortistne, Hydrocortisone
(D)  Androgens, Aldosterone

- araiiuenes ulient B anmiGLomenns (@@ o SeRTmiisemTELD.
A)  @easden smiigCam Crminden
(B)  @man € yramin iy Cemen, eTavig eywired
(C) a;rrr'n"_tq-,( semenm, enapl Cprami’ig Gamen

D) e CrmOgensar, B0 CLmeig Cymes

84. ————1is an example for chromophore.

@A) -SOH | ®) -NHR

‘/6 -C0=-(C=C),-CO- - (D) -OH

Bpperifég i a@ssEsm ()
(C) —CO-(C=C)n —CO-— (D) _OH
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85.

Choose the order of priority to assign Ror S :;)?guration
A I,SO;H,CLH ) L €80, H, 1
(© CLLSO,HH D) SO, HCLLH

R wpgid S s@wiy ¢AO90ashe Geaeumaaepile g sflurar pgaemouuBssise
cuflengwm@b? I

@A) LSO, H,CLH B) I, CLSO;H H
(C) CLISO;H H (D) SO, H,CLLH

86. ych of the following has E configuration? Trans-But-2-enoic acid, maleic acid
A)

87.

Trans-But-2-enoic acid
(B) Maleic acid
(C) Both
(D) None

Genaumeaiaraunie og E oiewliemus Qarar g? Cyraen-1Gu -2-ramds siflew, Gwauils
S|bletd ; :

A)  gymemen-19uLl -2-rermudls sisled

(B) Queuis sideb

©) @uamGw

D) egab Goeme

The more stable conformation of trans-1, 2 dimethyl cyclo hexane is
(A) Axial -
(B)~ Diaxial
)  Di equatorial
(D) Equatorial

qymaren 1, 2 Qs auamenu QansGsaflen <ifls HlavaliLsganenio QETeRTL Gulg.6l eUEF SiELDLIL|
(A) =&seuged i

B) @l oFsuigad

©) @rieL ENEE gD

D) EDEE augad
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88.  The kind of plasticizer added to prepare plasticized PVC is
(A)  Benzoyl Peroxide
\AB‘)' Dibutyl >hthalate
(C)  Acetyl ehloride
(D)  Acetyl ?aroxide

(Gammevigemsdlf 9698) ApAY @erss eI swrfinded GUiLED Apdlfl @ersd/ G Qenw
aTHs
A)  Quaensmile Quymdens
A B) e Gyt e CsCaL
©) <AL GCamar@
D) <fleoLd QuyTses®

89.  Zeiglet Natta eatalyst consists of following compounds in an inert solvent
(A)  Dialkyl sduminium, Titanium tetrachloride
(B Dialkyl aluminium, Titanium trichloride
(lg)ﬂ Trialkyl aluminium, Titanium tetrachloride
(D)  Trialkyl aluminium, Titanium trichloride -

b5 semrlunell D sebgerer géeri pi L Hflwureasdude o drar Geioriser
A)  oLgoass sgflaiiuw, et CLaflwib QAL grECerreny(®

B) oL goasd agflaiun, e CLaflub yeny@Carmeny

O yeoro@mssd sgiblefu, e CLeflwib QLgr@Carmeny(®

D) yersdmss s@flafiub, Lt CLaflwib yey@Carmeny(H

90. —————— test is not used to distinguish glucose and fructose
( Pinoff’s test (B) Furfural test
C) Molisch est ' (D) Selivanoff’s test

Gangear G@nCanev womib LisCLreans Camu®ss vwetu(HgsuHeudaena
A)  Qenmied Sersener B)  Sumfuyge Csrgemer

(C©)  wrellavd(Csrseman (D) Qeafleuenmiicn Cargenar
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91.

92.

93.

B

.

Partition chromatography involves the distribution of the components of the mixture has
analysed between

(A) Two miscible liquids
(B)  Solid and liquid
(C) _ Solid and Gas

Two immiscible liquids

Lk’ @ Hpdfles ugly weanwile 2 érer smaiuflé QT draTenausar
A) Qrandbd @aCproLreain swa&@LD &yeuld

(B)  Hawmowd wpmid Syeuld

(C) Herod HMID uTLy

D) @rar(ib @anGpraLreay so&sTS Syaul

The name of the compound Ci9 Hss COOH is
(A) Lauric acid
(B),. Caproic acid

)  Arachidic acid

(D) Linoleic acid

Ci9 Hss COOH eramp Cemngdlen GLwey sans
(A)  erflé oblebd

B) Csugmuis jbled

(C) <yyrdligd Sjfled

D) HCamedludls 2jdled

Which of the following techniques would be most useful to identify and quantify the
presence of a known purity of a drug substance?

(A) NMR ; B),, MS
(C©) IR ) HPLC

gniew QAsflps em Caudl dummener uaTuBwah umLadluabd SpsaT e ahHs BILUD
2185 sjerafléd LweTLREDSI?

(A) NMR (B) MS

© IR . (D) HPLC
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94.  The example for detergent is

(A)

Sodium itearate
Sodium lauryl sulphate

FQMEUS SLIq5E 2 FTTERTLD

(A)
©

Gamguwib soguiGr

Gamguwid renged sGLIL

(B)
D)

B)
D)

Sodium palmitate

Potassium linoleate

Cemgwib ureBIGLL

Qum_Lrfwib eSCammedlGuu_

95.  The final products obtained from the cooling of silica bricks

(A)
(B)
(©)

)

Cristoba ise + Tridymite
Quartzit: + Tridymite
Quartzit: + Cristobalite
Cristobalite + Tridymite .

felsam Qerspamar @afliedsein Qurpg), seLfwuns Qemshsaild o drar Qurperser

(A)
B)
©
(D)

AflevCL a6 + g fligenior
G et g + tq.Migenior
G at el + flavGLruamer_

SflevCLT Jema + g Migenior

. 96.  The initial time for setting of cement is

@)
A

©

®)

less _than' 30 minutes
not less taan 30 minutes
more than 600 minutes

not more than 600 minutes

S@uweimg e rbL Qs UINE LD ST o eTay

@A)
B)
(©)

D)

SCH/18

30 fll_disear el @enpay

30 Flfl_Bisener el Gewmeursmiod
600 Hlulltusener el ifaid

600 flflruseer ol fsionsmiod
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97.  The percentage of Nitrogen presents in calcium Ammonium Nitrate fertilizer
)  20% B) 24%

©) 40% . (D) 47%

sreflwbd Guraflub epl Cril o g o drer amplyneailar sseissden sarey
(A 20% (B) 24%
©C) 40% (D) 47%

98. The resistance amount used in coulometric titrations is
(A) 5Htol0 KQ

A 10t020 KO
©)  20t030 KQ
®) 10 to0 30 KO

Sa@IbL9é S7ib LMTFgedled LweTLBSSILHD Wersmulear Siare,
@A)  5apso 10 KQ '

(B) 10 apsed 20 KQ

(C) 20 qgpsed 30 KQ

(D) 10 gpse 30 KQ

Mobile phase
(B) Stationary phase

99. ‘/?,carrier gas used in the gas chromatography is
A)

(C)  Both mobile and stationary phase
(D)  Adsorbent

eumy] euerentL) 9 fleaudler LwearuBSsLILHD FHifeuny ——————— S GLD.
Q)  pemb flaveenn

B) Hevewrer flanewenio

(C) pamwb wHHD Haewrer Hlaamento

(D)  wpdy seumb Qurmer
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100.

101.

102.

A 4 ,
-2 @ 0

k

o +}z products; if b >> a, then what would be the order of the reaction?

a , <

(A) - First ortler reaction (B)fl"seudo first order reaction

(C) Second trder reaction (D) Zero order reaction

A:B—= 5 § . : La s . :
_ ail@erdurmer ; @Hé b>>a Gmuder, @dicllenanuneang ehHs Uiy GUMSEMWF

a

Cairbsg)?

A)  qpse Uk. ellenar (B) Cumel wpapuig eflener

(©) @uawrmb Lig cllener _ D) uyhuw g Aevar

The order of tte following reaction 2 N,0,; — 4NO, +0; is

B 1

Spserr aflena ulle aflaarLilg. erawr erg)?

2 N,0; — 4NO), + 0,

@ 4 ®) 1
© 2 D) o

The rate is inc ependent of the concentration of the reaction. The reaction is said to be
(A) first orcer second order

(C)  third order ﬁ)) zero order

eflenan Geustd, ¢flenarui(® Aumaflen oieneu sriBrmod @MmbsSTd, b 6flener
(A) ngéo aums (B) @uewrmb euens
©) aperpmi euens D) yhw s
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103. A first order reaction has ¢, =69.3 min. The rate constant is
2
S 107 min (B) 10 min
(C)  107® min (D) 107! min
(5 efananiuig. efleanuden Sy QL sTan £ =69.3 Hiblib. sjeualenarufern Cous wmhled
="
A) 107 Hufliib (B) 10 Hflid
(€) 107 Aufib : D) 107 HflLbd
104. The hydrolysis of ethyl acetate in the presence of a mineral agid used as a catalyst, the
order of reaction is .
(A) second ; (B) zero
Lo first (D) third
asde G Lol sfle amar easdl paraflamauien Sy uEsEn Cungl, <eueiamenlen
aflenerr euens
Aa) @Qrea® ; (B) ysuwid
©€) geam D) opey
105. The half life period ¢, of a reaction varies with the initial concentration of a reaction as
2
t, o —1—, the order of reaction is
= O
2
@ 2 -/(m~ 3
© 1 @) 0
@ Aoanddar Smranpe) s Gsmn ss Asflajer UG Gung &, oc% arafléd Sjeuelenar
. 2
GTEUUENSE STTHSSI?
@A) 2 ®) 3
L) ® 0
3 41 SCH/18
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106. The system has 3 degrees of freedom with 2 phases, the number of components present in
the system is

A 1 B) 2

ﬁ) 3 D) 4

20 Si@wldh sigarmo aear (F) 3 sysab, foesd (P) 2 eysab QméEw Cung <ide

asgmen smmset (C) QméaEin?
@ 1 B) 2
© 3 D) 4

107.  An enzyme which can catalyse the conversion of sugar to glucose and fructose is

(A) urease (B) maltase

(C) zymase 'A‘ invertase -

sissamraw @@&ECsmey wHmb LFECLTauTs LIHNSHE ——— eTagid Gprd elener
earsdlwns QewHuGHng.

@A) yhCus B) wroOGLeb

©) @sCuwat ' (D) GemeuirGLeiv

108. The liquid stats to boil at the condition
A) A vapour pressure becomes equal to one atmospheric pressure
(B) A vapour pressure becomes equal to 180 atmospheric pressure
(C) A vapour pressure becomes equal to 80 atmospheric pressure

(D) A vapour pressure becomes equal to 100 atmospheric pressure

aipg Hlenaulld f3nob Asrdlés < mbsdenmg?

@) el Slpssib @@ aiafiodn o <(wsssHE swBTELALNYS)
B) el Sssb 180 euafiveamm e SU(W5858D G FLIGLAUTIYS
©)  <ei S5 80 euaflvam e SU(WP5S5HD G sLLIGLALTYS
D) 6l Sssb 100 cuaflvar e S(W5358D G FwLIEGDLAUTYS
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109. An aqueous solution of sodium chloride is a/an
~ (A) one component system
M two component system
(C) three component system

(D)  both one and two component system

Birgs Camgwib GGerreny([® SrF eremLg)

@A) o6 an LUy

B) Qmsm ey

(C) pperm sam SieoOLIL

(D) gamwb, Graw@id sam Csibg eI

110. Desmotropism is commonly called as
(A) Tonisation isomerism
(B) Functional isomerism
)  Tautomerism

(D) Metamerism

QLavGlomg priideb eremig QuTgleurs eTan e p&EILHEDS).
A)  sweflurge wrHHlud

(B) ewers Qsr@H wrHdlwib

©) Qumg swblene

D) GulirQuflgd

111. What is the number of degree of freedom, when a single phase is a present in a two
component system?

A 4 B) 2

v@ 3 ®) 1

@ @ra® sam S0 G Hlereaio U HLb QHBSTED &L 1g. &L CTeRT cTeman?

@A 4 ®B) 2
© 3 D) 1

3 . 43 SCH/18
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112. Calculate pH of the following half-cell solution
Pt/H, (1 atm)/H*(HCI); E=0.25 volt

(A) pH=403 (B)é{ =4.23
(C) pH=413 . (D) pH=4.33

Qar@ssiu’erer sempsaaisr pH wélimu sar@ @iy ssad
Pt/H, (1 atn’?)/ H*(HCl); E=0.25 volt

(A) pH=403 (B) pH=4.23
(C) pH=413 (D) pH=4.33

113. What is the etndition for the cell reaction at equilibrium?
(A) - AG=4%ve B) AG=-ve

(C) E=+w (D)/E:O

sflevauio @ uiieb Weasaer eflmanésrear HlUbsman arenan?
(A) AG=+ve . B AG=-ve
“(C) E=+ve D) E=0

114. Schottky defe::t is due to the

(A)  missing of anion only (B) missing of cation only
(C)/gnissing of cation and anion (D) addition of excess cations
R Ligs58l0 evam_sd gapur® gouhEng.

Q)  adider swef QeuafiGupiaudarme
B)  Cpild swel QaaiCupedane
©)  Cpmden wppid erdibler siwafser QaelGupeiderma

D)  efsin qurer Crimder oywiaf GargaiiuBeuanme
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115.

116.

117.

In a simple cubic cell, each atom any corner of each unit is shared by a total of

unit cells.
(A)  One unit cell ~ (B) Two unit cells
(C)/'8 unit cells (D) 4 unit cells

aeflu sasgr emwlide epamauiled o 66T SigEmITEE
uBsSL LS.

@ 1 : ®) 2
© 8 ' D) 4

What is the electrode potential of saturated calomel electrode?
(A) +0.3335V
+0.2810 V

(C)~/+o 2492 V

(D) +0.2125V

yhgorer sCamoe Werapeaarnder ler oi(pSsLb cTemen?
(A) +0.3335V
(B) +0.2810V
(C) +0.2422V
(D) +0.2125V

SNEGS Fa(H(EHL60

On melting, a crystal expands only about ——————— percent in its volume.

(A) 04
(B) 06
(©C 08

(D110

P06 Ugsh 2 ®mELeUTE, SiF@mLL sar ldaeild
eflfleuenL_ujib.

4 04
(B) 06
(C) 08
(D) 10

45

&gsﬁgtb Sjere) WL HGW
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than that of

118. To control ecrrosion, the area of anodic material should be -
cathodic material.
(A Larger
(B) Smaller
(C) Equal
(D)  Very small
siflorengens s@&s Cpnller eamenlar uFliLeTay, adlmdlenapananiear umiueterey el
-@m&s Couanr(HILb. '
(A) T AE AT T3
B) Eoparrs
(C) swwors
D) HsE@peuns
119. The Nernst equation is
WVE, -B + 0'0591 log[M™]
0.0591 e
®) E,=E;,- log[M"™*]
0.591 "
C) E,=E)+ = log[M™*]
0.0591 1
E,=E) log|——
D) a =B+ 5 og[M'”:l
QpreravL_ soet L)
0.0591
@ B, =B+ 22N g
, 00591, - .
(B) Ee = ,‘.)1 = n IOg[M ]
©. E,=E\+ 0.‘.;91 log[M™*]
-~ 0.0591 1
E,=E, 1
(D) el 4+ n Og|:M,H_:|
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120.

121.

122.

(&)

processes are well adapted for composites nanopowder synthesis.

Precipitation

(CWol-gel process

smsLIUGEnG).

A)
(©

The summation of all the geometrical interactions in a crystal is called as

aSLpLiga| perm
grav-Qged penm

(A) Michaelis-Menton constant
(B) Boltzmann constant
(C)A’Iadelung constant

(D) Cryoscopic constant

M LyssHd odter Smarss emes G uipsellar sl BS0sTms eTaLIg)

)

Gremiu(hib.
(A)  wslsaev-Gwear e wrhe
. (B) ° Curel_ev@uwer wrhled
(C) Gu@mer wrhed
SrCGurevCsmis wrhled

The electron affinity of an atom

@)

©)
D)

directly proportional to its size
VA

versely proportional to its size

is independent of its size

none of these

S|a@6ll6 eTa&LFIeH BT L LD

A)
B)
©)
D)

2 (heu Sjera|Lar CrT efldls Agm_iyemLwig)
2 (meu jara L e Tt eflfly AsmiyamLwg)

2 (e 2jaTenel GUMMISSS) D
@aundled ergia|blerenay

47

(B) Co precipitation
(D) Electrodeposition

B) Qe afipugey e
(D) WHerapamb L&SD P

wepsdr snoCuIA CrCrmr gisdsear swrfllugnE Wsed 28bs WaDLTEs

SCH/18
[Turn over



123. Which gpe is borderline acid using HSAB-concept?
(A)NS Fe?* B) Fe*
{C) . Co™ ) . Si*

HSAB Qsreterasiug Sipsamn_euhmier ahs genm euenre eupiby (borderline) ifleib?
(A) '~ Pe* B) Fe*
© . Co* ®) si*

124.  Which of the following is a oxygen Red-ox indicator?
(A) Methy! red
(B) Phenol red

(CLAeutﬁl red

(D)  Thymel blue

Spsam_cupdliv o sfger R&s-THD Hnhism iy og?
(A) nggﬂé) feuliy

B)  JuSenme) Aeutiy

©)  pOHaw Heuiy

(D) mg,mn'él Beold

125.  Which of the ‘ollowing Xenon compound is explosive in nature?

A)  XeF,

B) XeOF,

©) XeO,F,

ONKeO,

Epsar._ erhg.{enon-ai CaiinsHbE, Geuly&@Eb LT e ig)?
(A) XeF;

B) XeOF,

(C)  XeO,F,

(D) XeO,

SCH/18 _ 48



126. An example for pseudo halide is

(A) AgCl
(B) AgBr
(C)  AgNO,

(D)\/'AgCN

Cured Capme H&EHEE @ THSSIESTH eT51?

(A)  AgCl
(B) AgBr
(C) AgNO,
(D) AgCN

127. The conductivity of a semiconductor is given by
(A) o =o,exp (~EglkT)
(B) o =o,exp (Eg/kT)
P (C)\A’= coexp (—Eg/2 kT)

D) o =0,(-Eg/2kT)

@opssL_sHsalldn sLsgisSpen 2GELD.
(A) o=o0yexp(-Eg/kT)

(B) o =oc,exp (Eg/kT)

(©) o =oyexp (-Eg/2 kT)

D) o=0,(-Eg/2kT)

o , 49 SCH/18
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128.  The bond stringth of sigma bonds formed by orbitals are such that
(A) S-S¢>S-P,o>P.-P.o
B) S-P,o>S-So>P,-P,c
(C)A’, -Bo>S-Po>8-So
(D) Px—E:a>S—Sa>S—an

ML rdose e Haor YevenriiLy o meungedlen cualiano
(A) S-Se>S-P,o>P.-P.c
., B S-Pi5>8S-So>P,-P,o
C© P, -PRo>S-Po>8-So
@M P -Bo>S-So0>S-P,o

129.  Which of the following mixture is used in the treatment of asthma?

(A)w/)‘xygqéél-Helium (B) Oxygen-Xenon
(C)  Oxygen-Neon 1 (D) Oxygen-Argon

Spsa@T_euDmIiT eTbg Swanas yegior Coimil Sélseanes @ LweaTLPEng?
Q) sfgi-adelwuib : B)  <sfgear-Qgemen
(C) 2 &EP I—Hlwimer - (D) = <sflgme—yismer

130. Phosphonitrillic compounds are analogous with
(AN Benzere (B) Alkene
(C) Alkane (D) Alkyne

uravGurenprlellé Camomadr arbs ComosHer Gis SiemwlieL Q) il LD ?

(A) QuenSer _ B) <ywsanser
©C) <yoCanaar D) yeowsanaer
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131.

132.

Iso:oyabelhng means
(A One atom of the substrate molecule is substituted by its isotope

(B) Addition of one isotope atom in substrate

(C) Elimination of isotope atom from substrate

(D) Removal of isotope atom from product

mCanCGLrinds uged® eremuig

Q) Aeeu@@urmaigidter om GHGL L SgneinE ufors gCsrGLmiyme LS BHso
B) eleau@aurmes e em gCerGLmiL animal Camgse

©) eleau@aurmeiamis 8CemGLIIL Signimal B&GS0

(D) Gﬁ]@@aﬁ]a)m@un@@\ﬂ@&@;&g pGsmCLMIY Sigmeme BEGD

Self redox reaction of benzaldehyde in the presence of strong base to give benzyl alcohol and

benzoic acid. This reaction is known as
(A Cannizaro reaction

(B)  Aldol condensation

(C)  Perkin reaction

(D) Benzoin condensation

Quensraigeman® eSfw Wés srysder wearaflameauia sw salnGadmd LHMID GHEHD L bHE)

Quénamsd posanmd wHnib Auersmuis sifleon sTREspg). @eieimen 2 @GLD.
(A)  searaflenCym elenan

B) LD GOIES ellene

(C) Qurdler elenen

D) Quersrier Gm&s edlanar

51 SCH/18
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133. The major product obtained in benzidine rearrangement is

NH - NH NH.

: (B)
[ele OCpoO™
NHa NH:

S, “’””

Glueindlig 6o 2 mioti wmpm efeveamniier Aumoarey éﬂ@f)l.&i&&i&hlq.lu eflener@uimner

oo OO

NH:  NH: s
O ™ (O] @
134.  Which one is the product of claisen rearrangement? OH
OCOCH3 HsC CHs
(A) BN
7~

L CH:— CH = CH:

R-C -OR' - C -NHR'
© Fg o H-f

$lQemiifle el mar wmHPSS Sev_s@1b eleneneilener Quimmer o112
OCOCH3 &
CH
@A) B) HsC 3

HsC 7
CH:- CH = CHz

R~C--OR' - NHR'
© @ T
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135.

136.

Which of the following statement about in LiAlH, is incorrect?

(A) Converts alkylcyanide to amine
(B) - Converts nitrobenzene to aniline

‘ (C))./gonverts 1-chloro and 2-chloropropane to propane

onverts alcohol to alkene

Spésrayib ansfunisaild ereveu LIAIH, o 16 Qur@mpsns?

(A) SiansH Fweman() 2ibernms wrHmibd

B) @pCrmQuendmen SiafedanTs rHOHILD

(©) 1-@CemnCym LHMID 2-@GemGym yCrmuGuenen yruGuenrs wrHmib
D) < osaprand SdSamms THHILD

Identify the product of the following reaction?

(j 080, .+
o et O ?
f OH (6) OH
S “y
H

(A)

”b/

S
B
o
o)

H OH H OH
M T ® Sy fn
HO\ IH H
Qemeuqnid edlanemulled afenanedlenar QUTHEnET S (HewTTa

(j Ga, o-
pm it RS ?
(0} OH (0) OH
H OH H OH
(D) s “y

53 SCH/18
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137.  Predict the groduct of the following a reaction?

hv
@ N=N*=N"+(C,Hy), NH—> 9
N H, N (C,Hj;),
@) - (®)
§ )

N (C.Hy),

(CM < D)
q

N (C.Hy),

Spsan el amsalls elenar eflenar Quirpenar serRamivs.
hv
N=N"=N"+(C,Hy), NH—> ?

"y N (C.Hy),
(A) (B)

/ N (CZHS)Z

T
Wi
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138. The product of the following reaction is

- L
NH:
* NH?.
- CF
! « ~NH: @\
«‘»/)
©/ g NH:

CoNH2

o O

Spaam eflenamuféd eflener Quimpar,

«

Cl
NHz
NH3

NH:2
(B)

=

@

CoNH:

o 55 SCH/18
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139.  Predict the product of the following reaction

(@)
T
(A) /0\)_(:]__@ ®) Qi@
H
VNG Sy o (3-IL)
' COOH

Sipsaranib @leande eflener@uimpaT ereman?

OH COOH

SCH/18 56




140.

141.

142.

The energy of the free particle is always
(A) zero
(B) not measurable

C) -—ve

\A +ve

eréver Flenaasaflgid, sULDHD gsarsatan pHH

A) yhBwubd
(B) sawsd Queng

(C) —ve
D) +ve -
In a system, which one of the following is physically unmeasurable quantity?
(A) position (B) velocity
(C) energy A weight
@ w90, Queads pepuie siaTallL AP LINE LT 157
A fHeow (B) Geusid
© ppd D) eerL
If A be ‘@ and f(x)= x> +c.Then Af(x) =
A') ax® +ac : B) ax+ acx
(C) ax+ac® (D) ac*+ax
A aenug) ‘@ aranayd, f(x) = x° + ¢ ey @@mEED CUE, Af(x) =
(A) ax®+ac B) ax+acx
(C) ax+ac® D) ac®+ax
57
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2
where a is the

143.  Calculate the degeneracy of the energy level corresponding to energy S
ma

length of the side of the cubical box

(A)  Non-legenerate

(B)  2-folel degenerate
) 3-fol¢| degenerate

(D) 6-foﬁ. degenerate

2

8ma?

‘@ Hemd Q& raw pliuforen set) QuiL_sgde DO DD UL SHer b5
2O LB Hamars saursd He.

Q) 9853HDO SADDEI

B)  2-0LbE b5 WD 2 oLy

©)  3-vLuE ess dDO 2 @Lwg

D) 6-wibE @ss wdDD o mwg

144, Mention the condition for. a process when AA = AG
(A) AV =0 ' \-((; AH =0
(C) AT =0 (D) AP=0

@@ eilevan, A A = AG erengyid Hlevaven SmLeugnsrer FlLbsenen
A AV =0 (B) AH =0
(€©) AT R0 (D) AP =0

145.  Coypling of orbital and spin angular momenta of electrons is given by
V&v j=148 B) L=+1
©) m=<,0+1 D)  S=+1/2

0 s falar @t Hyb spHsl  Carenr 2 psb @aemyd  parp eTeuauIT)

@Mléas0u {0
A  j=1+S B) Ls#1
© m=4,0+1 (D) S=+1/2

SCH/18 ' _ 58 o}



146. Wave equation for one-dimensional harmonic oscillator is

. 0% 8z’m N
(A) 8xf -—”hz— (E—EK-xZ)y/ =0
|/£ azy/ 87°m
E——K -0
) ox?® “h [ ¥ )'/’
© 2% 8n’m =6
s 7= S A
o’ 8x’m
® ox* hEE - =8

o uflorer fames Siwe GupHluller siwad swerumi

6:// 8z°m
@ L= [E-—Kx],,,:o

(B) Zy:+87;12m (E——Kx Jy/=0
)
*w  8z’m
& e
%y 8n’m
s S S

147. Find the number of nodes for the energy level n =4.
@ 4 B 0

© 5 S 3

n =4 oypnd L SO sanissatien (nodes) eramantiéms WNg?
@A 4 ® 0
© 5 D) 3

o] 59 SCH/18
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148. A reversible is occurring at constant temperature and pressure. Find the right form of the

equation for the above reversible reaction

A) -Gy =dW
(B) + (dG )P,T = dWminimum

\ﬂ i (dG )P,T 2 quseful

D) +(dG)pp =AW, 0

wmprs datuflae wHmIb SiWsssHD poLEupbd em Baelmass Qsm_iyeamw sfwrear
goaLuT s CoibosHsseaylb
(A) & (dG 'P.T =dW

B)  +(dGlpp =dW

GDODHSULFD
© -(dGlpy =dW

2 uGuNspeTaT
D). +(dGlpy =dW

2 LGunasaperar

149. Eigen values of a Hermition operator are
(A) Normalised
(B) Eigen functions
(C) Linear
)  Real

@@ Aanffé sar Qaweluflen maer i
(A) sl viuESsILLL g

B) g gy

C) Cpis@ ;;rr® (Linear)

(D)  eawmenio (Real)

SCH/18 60 o




150.

151.

The cells for IR spectrometry are made of
(A) - Calcium Chloride
)  Sodium Chloride
(C)  Aluminium Chloride
(D) Magnesium Chloride

<is8euliy Hipwreawrailide Lwearu@ssuudn Gsemerseer
A) sroflwub Glameamy®h
.(B) Gesmgwid @Cearmeny(H
C) <guiaiubd @Geamear®
D) Qusaiadlub gCermeny(H

Choose the correct property of TMS
(6)) C}_:lernica]ly inert
(i)  Soluble in aqueous solution

(i11) Volatile

\A (1) and (iii) are correct

(B) (i) and (ii) are correct
(C)  (i1) and (iii) are correct

(D) (i), (ii) and (iii) are correct

TMS —érr uansener CaTHEASHSS! (PSS
@)  Cadelean yflung

() fBiré sersosaicn sy

(i) peflumgd

A) () whpmpw (i) sflwurareneu

B) (@) wHmd (i) sfwrereneu

(C) (i) whmw (i) sllwurareeu

D) @), (1) wpmwb (ii) sflureaemeu

61
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152.  Which of the following shows ESR spectrum H, H,, Na*,Cu*

\A; H | (B) H,

(C) Na® D) Cu*
Wetreumeuete 1piler et ESR fimoree sr_ @ H, H,, Na*,Cu*
(A) H @ : B H,

(C) Na® D) Cu*

153. What will se the selection rule for Rotational transitions, If J is rotational quantum

number? -
\A&) Ad & +1 B) . AJ =0
(C) AJ =+2 D) AJ=+3

J areiLg) &1p1# GeumaiTL b ereit arempred HHA My EsTar Caitay el eramen?
A AJ=+1 B) AJ=0
C) AJ=+2 ' D) AJ =43

154. Which one is the best qualitative methods to detect impurities?
(A) IR sp:ctroscopy

~A{)\ Mass spectroscopy o

(C) UV —visible spectroscopy
(D) NMR spectroscopy

ueLbl apedpudie ppeid wiassmar sarLBiu Ambs en wimg)?
A) IR spi:ctroscopy (sisélauliy Hlyeiomedfl)

(B)  Mass spectroscopy (Qummeirento Blrevomefl)

(C) UV =visible spectroscopy (ypeasm — st Lje Blyeoomefl)
(D) NMR spectroscopy (NMR flyeoorefl)
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155.

156.

157.

The wave number of a transition is 2000 em™'. In what part of electromagnetic spectrum

does this come?
(A) Radiowave region

% Microwave region
)  Infrared region

(D)  Ultraviolet-visible region

@ wrHpsdpsrar e ear 2000 em™ aafled =g Bearamhs Hpwraeuid erbs u@Sulled

S{ELOWLD?

Q) Crglur siewe UGS
B) parsOD UGS

C) @Bfaiyued

D) ypeasr-sLjeer UGS

The absorption of IR radiation is accompanied by transitions involving

(A)  Electronic levels ) Vibrational levels

(C)  Nuclear spin levels (D) Electron spin levels
<isHlailiy s8I 2 HlEhaeUSET LPOLD wrHob HenEnsI.

(A) ereslrraiu wiLSSld B) <fie) Lo

©€) sigmssm spné LLL S D) e yren &PHE UL SH®

From the following which one is NMR active
15N, IZC’ 160, 4He

(A) 16 O (B) 12 ¢

.16)‘ BN (D) *He

\Qemau(mid iemIEaHedle) T8 DEEED STHSL pédlasa) HHD
15N 12C 160 4He

(A.) 16 ) (B) 12 C

© "N | (D) “He

63
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158.  Finger prini region of IR spectra is

A)  below 1300 em™
(B) 1200cm™ -910 cm™!
(C)  below 910 em™!

(D)  between 3400 —1300 cm ™

SHFH eI g]mmnmmuﬁlcb afllyeCGrens LGH GTEILIG)
(A) 1300 3.5 6@ £Cyp

(B) 1200 Js.5" -910 Qa.8"

(C) 910 o855 &0y

(D) 3400 Q5.8 @b 1300 Qs.8" &G e ufed

159.  Which of the following statement is incorrect with respect to TMS?
(A) TMShas 12 équivalent protons
(B) TMS-.:ais chemically inert
u()‘ TMS g ossess a high boiling point

(D)  TMS ¢an be easily evaporated

S\pasaTL mg’)gla'»_aﬂsb gl TMS-6@ Qunmpsnss?
(A)  TMS 12 flsi yCrm Lrensmer Qamein_g)
(B) TMS Caud wps serenin Qamrei_g

(C) TMS SiSla Qardlflene Camenr_g

D) TMS aaflfé @yefuins Falg UG
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160. The geometry of Ni(CO), and [NiCl,]*" are

(A)  both are square planar
\16)) both are tetrahedral
(C) tetrahedral and square planar respectively

(D) square planar and tetrahedral respectively

Ni(CO), wpmb [NiCl, >~ efler auigeuanioliy
A)  @uewr(Hid FGIFSEmD

B) @urean®b prerapd .

©C) peonCu prearpd LHYID FGTSETD
D) papGu sgTsemDd WHMHID Hrerpsl

161. Give the formula used to determine the number of unpaired electrons in a complex.

(A)  u,=n(n-2) BM B) u,=n(n+2)

ﬂ u, =/n(n+2) BM D) u,=n+(n+2) BM

3

Simana| Gaibiiseid GMEMUTETS &L TTEHmaT SamédL Lwer (L QUTUILUTLEPLS S(H.

@) g, =n(n-2) BY ®) u,=n(n+2)
(©) U, =+/n(n+2) BM D) u =n,/(n+2) BM

162. The general electronic configuration of Lanthanides is

(A) [Xe];,4f° 5d° 65° (B) [)(63]544f1'75d1 6s!
ﬂ [Xe]544fH4 5d! 6s> D) [Xe]544f1'“ 5 41062

MBE@aT HESER6T TS TTET SienLoLiL] eremen?

(A)  [Xe]s4f° 5d° 65° B) [Xel;4f'"5d" 6 s!
(C) [Kels4f™5 d' 6s® D) [Xel, 4f"™5 40682
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163. The best method to separate lanthanide elements is

(A)

(©) Comj-lex formation using EDTA

Fraetional Crystallization

wnpgemen & ilorsmer GALusHE HphHs pen

A)
(B)
©
D)

\Yeiras Lig sLomdse '
saLuTemer Asrear® eTm @nésid

EDTA vwemi@gd Caiomiser o peun@se
Sjwe ufliorpp GSenser

164. Paramagneiic moment is expressed in ——— units.

(A)
)

Deby: (B) K Joules
BM : (D) ergs

UMIT&MHS $6Teno ———————aiedled GossILHEDE?

(A)
©

a0 (B) k geovsadr

BM (D) e

165. Choose the torrect statement

(A)

(B)

(©)

S

[Zn(CN),]* : square planar and paramagnetic
[Zn@'H,),]* : square planar and Diamagnetic
[ZnCi,(NH,),] : tetrahedral and paramagnetic

[Zn(€N),]* : tetrahedral and Diamagnetic

sflwrer smpe m Csi0sH?
(&) [Zn(€N),]* : sgiy sembd iopmib Limy STHS SEMEDLD 2_GnL_ILIgG|
(B) |[Zn (KH3)4]2+ “EGIIT HETD LOHMID LWIT &THS SeenLo 2 L)
(©) [Zn@z(NH3)2] : BraTpdl HmiIb LT STHS SN 2 6DL_ WG|
(D) [Zn(E€N),]*: Brawapdl HYID LT SMhg Setrento 2 anL_Wg)
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166. The colour of [Ni(H,0),]*" ion is

(A) . Blue colour (B) Green colour
(C)  Yellow colour (D) Red colour

[Ni(H,0)4]*" sieanay Gsiro amaﬁ
A) fSeo Hpbd (B) ué&ens Himbd
(C)  w@sser Hpd : D) Sauliy Hpd

167. Which is the correct order of energy of ‘d’ orbitals in square planar geometry?
(A)  dyz=dz* <dzx <dxy <dx® - y? |
‘A d_'y.z'=dz:7c<dz2 <dxy<dac2—-y2
(C) dyz=dzx<dxy< dz? <dx? - y*

D) . dyz = dzx < dx® - y* <dz® <dxy

FGITHET Caimoiisefa o drar ‘d’ @pmaLrédsafier S Hmeder sflwimer euflleng aTg?
(A)  dyz =dz* <dzx <dxy <dx® -y’

(B) dyz=dzx <dz® <dxy <dx® - y?

(C) dyz=dzx<dxy< dz? <dx® - y*

(D) dyz=dzx <dx® -y* <dz* <dxy

168. Ambidentate ligands shows ———— isomerism.
\ﬂ Linkage (B) Ligand
(C) Ionisation (D) Co-ordination
rram QuHp emapeen Frefl —————— wrHHlusemss ST(HID.
A) @aewtuy B) eaf
©) swe D) simantey
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169. Triphenyl aluminium compound is a
(A) Dirser \x{' Trimer

(C) Monomer (D) Tetramer

Canr9enaish sigiflefih Geiotb )
@) @ | ® fous
©) plug QD oty

170.‘y‘ch one¢ of the metal ion is used as a weak acid-base catalyst in some enzymes?
4) Mp* _ (B) Fe

© ~ c& D) Fe*

Spsan by 2 CGors owefl Ao Aprlseafler eualleno Geopps ila-smr Hmanysduns

LwerL Bl g ?
4) Mn' (B) Fe™
(© Ca& (D) Fe*
171.  Niginisa derivafive of |
K Pyridine . (B) Pyrimidine
(C) Be'z:izene (D) Acetyl

Bluiréer oréi Lg ————— Qupd
(A)  Aflie e (B) 9MSigetr
(©C) Quedar D) fceara

172.  How many number of porphyrin rings are present in the hemoglobin
wgw 1 B) 5
<€ 3 ' D) 6

e Gl Cer miefld Bavempgierer Limit.anuiflen euenanutisaiian eraimenflsans TGN 6n ?
@ 4 3 B) 5
€ 3 ®) 6
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173. Globin, protein protects Hemoglobin and myoglobin from —— by oxygen.

(A). Reversible oxidation (B) Reversible reduction

) . Irreversible oxidation : (D) Irreversible reduction

&GearmAar LGym e, afCGomECermien wHmid awGur@Carmien p&edlRer ApLOTES
SIELWITOE UNGSTESDS.

A)  Ser gy selnCGanmpid 7 (B) BSerp&sid
(C)  Serr ysellnCarpmd (D) Berr pH&HD

174. The blue copper proteins are found in

Cyanobacteria (B) Mycobacteria

(C)  Actinobacteria (D) Proteobacteria

B Bps smoly Lyshiss —— & Q@EEDS!.

A) swCamCGuseflwm B) @wCasrGuseflwmr

(C) =& CamCuseflum D) yGymiigCumGusiewr
175. The molecular weight of cytochrome may vary from to

(A) 10 kDa, 200 kDa (B) 11 kDa, 200 kDa

V@&  12kDa, 200 kDa (D) 13 kDa, 200 kDa

@l CLI@CImigien i apaéamp e ——— PE0 ———— Q] Ceumi(Hid.

(A) 10 kDa, 200 kDa ‘ (B) 11kDa, 200 kDa

(C) 12 kDa, 200 kDa (D) 13 kDa, 200 kDa

176. The colour of Fe(11)+Deoxymyoglobin is

,/@) Bluish — red (B) Violet —red
(C) Yellowish - red (D) Greenish — blue

Fe(11) wpmid e é8awCurgCarmien Caibg samamal Qupmarer Flmid
A) Seb seps Heuiy (B) oasm— Sfeuliy
(C) weEpser sobS Sleuli (D) uéms sOHS Hobd
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177.  In rubredoxin at pH 7, the reduction potential of the Fe®*/Fe2* couple is
4) 04V B) 05V
) 06V M 0.7V

PH sjerey 7-- & Fe¥ /Fe® Gorrsamsude wUiLrselaflen @B és eataripssin
A 04V B) 05V
(C) 06V D) 07V

178.  In the reduced form of ferridoxin the Fe ions are in — oxidation state (number)
(A) +1and+2 (B). +1 and +3
(C) +2and+1 i ) +2 and +3

Qur’nﬂure'smﬂ?m @0&sD @Lyb Gurg dd QméEhd @mby Sjwelser

ySaflgnCGant p cramamants QLipBlméeio
(A)  +1 wof mub +2 (B) +1 wHmw+3
(C) +2 wimb+1 D) +2 wHmid+3

179.  The catalyti: activity of organometallic compound is due to its ——— site.

(A Halfyacant (B) Vacant

‘K Vacar t coordination (D) Valency electron
2T&ECamQw __rellé Csiomiser elaear carsduins GQeweou@eusn®, s
QLib apsdu srremTd )@ LD.
A)  urd sredlwire B) srelwrer
©) srdlwrer smaney D) Qaardper el Frenser

180. Thg oxidatioa state of metal atom in metallic carbonyls is
)  Zero (B) One
(C) Two (D) Three

2 Carss snilLraneareie o drar 2 CansgHlar oysailgCanpn ereir
A umsuib B) qam
©  @uam() D) ey
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181.

182.

183.

CH OH - CO - (CHOH), - CH,0H 22,
* (CROE,S Na BH

(A) . Glycollic acid + Tartaric acid

‘X(' D — Glucitol + D — Mannitol

D — Glucose + D — Mannose
(D) Gluconic acid + Water

CH,OH - CO - (CHOH), —- CH,OH —2® 9
= (CEO) . Na BH

Q) Aamersrels bleoid + L.@uﬂﬂ&; Sjlewtd
B) D- Gepfime® + D - GuoallLrd
(C) D-@eEpstamav + D - GuoGarmad

D) EEsCsralls sifleb + Bi

Choose the neutral amino acid among the following?
(A) Arginine ° Methionine
(C) Glutanine D) Asp_arag'me'

Yenaumuemaus@EseT sHHlome 2iflGa Silosmss Caibesh?

A) = rdenarer (B) QuwssCureneren
(C) @epLamaeren D) siavCurygden
Cytochromes are example of ———————— protein and its main function is

(A)  Fibrous, helps in digestion
(B)  Globular, Protecting from infection
(C)_  Fibrous, killing bacteria ;

‘ﬂ Globular, acting as electron carriers

m&LGLn@(EuntﬁadT GTETLIS) LIsHEEHEE ThS8E6T(, g (psiw Aeudur®

@) Qo GranpHne 2-s0idsl :
B) Camer angeu, Gomi AgrppsaielBhs LTEETESADS
€) @y, ursefurssmens Qarosng)

(D) Camer angay, eredLlyrar sridsamss AswuBSng)
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184. Indigo is obtained from
(A Phthalic anhydride and phenol
\Aé Anthranilic acid and chloroacetic acid
(C)  Reso:cinol and Phthalic anhydride
(D)  Phenol and Aniline

ey Carr &b sunflést LweuED epatiQurmL_sar

(A)  gradlé BAed pmib Semmed

B)  <upgrefals suflewn whmb @CarmGyr 215 sfletd
©)  Gpemdlame wHmid Hredld Hifles)

(D) Semmer wHmid ieflaSen

185. ——— is an example for Antimalignancy antibiotics
(A) Nystutin
(B)  Amphotericin

‘ ( Paroinomycin
)  Mitoinycin

—— HODICHTL 514556 ardlymen eTdlir 2 WINEE THSHIGSTLH 24@ELD.
" (A Bevetliger

B) wCurQfNder -

(C)  GunGomeniodlen

D) O G _revwdlen

186. If a molecu e possess c, axis with different values of n, the ¢, axis have the maximum
value of n i

(A),. Trivival axis (B) Fold axis

‘A Prine pal axis (D) Spiegel axis

Caupulr 7. wHLysCem(, G possmy c, JFoss CQaramgmuder, s waliyarar
n wlamus Oarar_ ¢, oiés

A)  yer@eied iFs (B) iy s
©) wsauvw oFs D) VER0 &5
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187. Auwers-Skita rule says about
y Enantiomers (B) Tautomers
C)  Cis-trans isomers (D) - Optical isomers

<pjeuir- oL 68 eremLig) erangs GHlESlaTn s
Q) @eamanSlCur@wirser B) Qumg swflena wrhHblseT

(C) @muss-adiuss wrhHlwkiser D) gafl&swnd wrhdlwirkiger

188. The angle strain in cyclohexane is
A, 9°44 B) -9°44'
) —5°16' (D) 5°16'

auaerwQansCeafilan Caream (&5l Siera]
A 944 B) -9°44'
(€ -5°1¢ (D) 5°16

189. Which among the following has highest periority in assigning R/S configuration
.

asymmetric carbon?

/‘ CHs , CHs
@) CHsO- (B) CHsCH-
(bHs
(©) CHs-CHx ‘ ©) CHs

of

Spsam_auphléd ash@ swifpp sriuer AstEd Aubm R wpmid S aumslL@B&sld pargfleno

sTuUGEng? .
?Ha Hs
) CHs=C- (B) CH:CH-
bHa :
(C) CHs—CHa- ' (D) CHs—
o 73 ‘ SCH/18
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190. The basic principle of conductometric titration involved in
(A)  Numoer of ions
(B)  Mobhi ity of ions

(C) . Conductance value

A5 Bothl(4) and (B)

5L§@ﬁp€h-§;umunﬁ§§aﬂw DG UL FSHIGULD TSMETEF ST HSE|?
A)  swealsefler crareniidGans

B)  ewalsafidar paie,

©) a8 dHpern iy

D) (A wigd (B)

191. A synthetie detergent contains ———— number of carbon atoms
(A) 10— 2 10-15

‘ (B)
© 8-20 vﬂ)('8—22

Gewpers s@meauggailer @ maEh sriuansaan cramasma <3|6TeSHET
A) 10-82 B) 10-15 |
© 8-20 (D) 8-22

192. The yield foi: percentage of coke obtained in low temperature carbonization process by
(A) 55—€5%
B) . 92 -68%

‘/( 75 —§0%
(D)

65 — 5%

GODHS Geuiilu;ﬂma)ufﬂd) EMTLET U &5GSD pepuie S @b saaflufer 856085 ierayHar
(A) 55—€5%
B) 92-£8%
©€) 75-80%
(D) 65-195%
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193. The alloy present in an pig iron
(A)  Iron + Carbon + Nickel + Manganese
(B) Iron + Carbon + Manganese
(C Iron + Carbon + Nickel
)  Iron + Carbon

wendl @y (eurrliQmni9a) @mésssmiyw o Conssswamea
A) Qb + sriuen + Blés + rhisats

B) @@y + srituer + TRt

©) @by + smiuer + Hlésea

(D) @@y + smiuer

194. Thermally unstable material can be purified and separated by
A) GLC ‘
(B)  Gas Solid Chromatography

\/tf' HPLC

(D) Paper Chromatography

Geuiu Hlenaviiy gemenowidm Quin(meT ereueumm gnuewiu@Ssuul B AfsstuGEng?
A)  eumy o cuarenriGfens

(B)  eumy - SHewrob eueirenTL flens

©€) =8 2wss Bino euarmeanriGfens

(D)  srer cuamanri 9 fens

195. The technique in which the temperature difference between a substance and a reference
material is measured as a function of temperature is

@A, TG (B) TGA

\}6(‘ DTA (D) DSC

Gurmer wpmib ALt Aurmefler QeuiuBlee Cougiuim’ e, Qauliuflaeowar Asriyiu@Ssid

Qamifled mi L penmaE QL
A TG ' (B) TGA
(C) DTA (D) DSC
o4 75 SCH/18
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196. In AAS which of the following is the generally used as radiation source?
(A)  Tungsten lamp
(B) Xenen mercury arc lamp

(C) Hydiogen or deutrium discharge lamp

\ﬂ Hollow cathode lamp

<ig) 2 Hl@h 7 auama Aflmsuieo (AAS) sflflwés apawrsl LweaGeis egi?
(A) e e efleTs, '

(B) Qgarmer LTgysd 24T efleTsa; -

(C) eap _ygmen g iy fwib efleré@

D) o emefnm erdmblen eflersa

197. Thermo coiple is formed in DSC by ————— wires.
(A)  Chromel
(B)  Aluinel

(C) Constantan

‘/()‘ Chromel and Alumel

DSC apeopuder QeuiuCgmgeni 2 (Heurds s LweTUHb euulisar
A) ©Cpmoe

B) Qo .. 1
(C) &mesevL_comem

D) ECymoe wHPD SiGILOD
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198.

199.

200,

A polarographic cell is also called for the analytic solution is
(A) Inverted U cell

H cell
(C) Veell
D) Uecell

CuraCrrdlyme..95 Wearsawrang Smer 2jeem sarFedld eww Qupmerer QUTIPE DL LI
Quiwir ‘

A) soadprar U llase
(B) H dHersew
(C) V benseid
(D) U dlersaid

The repeating unit present in gutta-percha is
(A) Three ) Two
(C) Four (D) Five

Gl — Litsr Leuigudd Hpbu Smbu e LESsafarn cramaflEems
@A 3 ® 2
Q). 4 D) 5

The excess of nitrogen, phosphorous and potash in the plant, causes the
deficiency in the plant.

(A)  Sodium
(B) Potassium

\,(cf' Copper

(D) Zinc.

STeupmGaic) GBLTREN, LTELITED OHDHILD QUL TAwb SHsw0rs GMmBSTED G®DEUTS 2 6TeT LHD
SETILOLD GTemmen?

(A) Gemguid

(B) QumriLréflwid

(C) smiur

D) sBsETHED
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provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.
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